U00e npp &

HEEODABREOKACATICHT 2REMAT

BE=EHR
[FiR]

(R #H]

(RS X]

(24 %)
[E&XiZaH]
(R i3 SERRTEH]
(#wEHEBRED)
(2 B]

(BHERUVHEARTEOREK (B) ]

[{Rth HE]

Tef0%g wo. 3

EE&OWE D TE
R s (X RE

L x L Hh GRS Ky &1
2a40 1 BE K1e - 18 18 3%
FrlbtE 4 A30H

Erkib% 5 A B

)
Zalt,

$£1 [RITSHCAT SRIA]

RITRHOLH MBI A L -T2
&fEI—F 2319

£ - EEOB v 5%

EREHBEIF 2a w1l

*EFELD i dPe kb da.n

$2 HREEICHY HFIE]

1 [REE (KEREE) /1)

() LR OBE)
© [RiHE KERAE) )

A - BADZ Fh (R NE

E& U B R B LI IEREIL

R X A A ER PE Y ANOE X3 - 10 18 2%

BEAX 3G LR L Hi1atk R £

[BEEFR X A E R I 2EEPANOE X3 W L1 1F 2%
@ [BACHE)

4EB A

Bk

BIRS SE2 Th

R R SR iEPR




@ [IEACES]

RUEAR Pliv 215 A 1B
REERE ® 11 1A
REER S XY TS
FEHE Lh kil rid 56 4R o AR
@ (E55 LO#E®H %]

FHLORBARUESEE | PARVAKPE LIP30 0B 0% SrsB AL oy A e
THES 03 ¢3213) 0381 |

@ - lEE )

#3558 (BEwmbt e dM i 58

(3) (LEERHEORFTHEFZTOAR]

O (RAKHEOH]

BEITROUEIEEY | FEITSOUEIEEIS | BEVSEOIIEIEE IR

Br¥x (BR)

18,132

FERS | ZAEHH (B

HtkTREES (B

Fk TR S (B

MREMRAFAN-RTZ b

BRI TRECAE %

k77 B0 FRFEAE 3%

AR A S0 R AL (R

=
O o oo loile o

TEt (k)

M 1$,132 |N

—
L= == i L= o= Y f v B Lot G Lo R e ]

L= e R [ N o W Lo ]
-

ERMEICLOBMEL LT &iT
L DERTOHRESOH

REAERSEOH (B
(MN+0-P)

18.132

REBERNCK
(A+B+C+DIE+F4GHHT414K+L)

Q@ (FHERFES]

|- EITERAAE R R
(T rElo 5 4 A 30BHRTE)

362,606

LEREHED
BEHEEEEEE (%)
{Q/ (R+S) X 100)

NP A

EROHRERICEREINE
BRERFTES (%)

5397/




